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Nom: Date: Note:
9,456 x = 9456 9,713 x =9713
7,445 % = 7445 10, 9 x = 10900
2,987 x = 29.87 6,463 X = 646.3
5,903 x = 59.03 9, 732 X =97.32
2, 88 x = 288 9, 124 x =91.24
9, 806 x = 98.06 5, 166 X = 5166
5,672 x =567.2 6, 972 % = 6972
8,202 x = 820.2 8,17 x = 8170
2,72 X = 2720 10, 28 x =102.8
7,402 % = 7402 9, 942 % =99.42
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Multiplier par des puissances de dix ( nombre
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Nom: Date: Note:

9,456 x 1000 = 9456

7,445 x 1000 = 7445

2,987 x 10 =29.87

5,903 x 10 = 59.03

2,88 x 100 = 288

9,806 x 10 = 98.06

5,672 x 100 = 567.2

8,202 x 100 = 820.2

2,72 x 1000 = 2720

7,402 x 1000 = 7402

9,713 x 1000 = 9713

10,9 x 1000 = 10900

6,463 x 100 = 646.3

9,732 x 10 =97.32

9,124 x 10 =91.24

5,166 x 1000 = 5166

6,972 x 1000 = 6972

8, 17 x 1000 = 8170

10,28 x 10 = 102.8

9,942 x 10 = 99.42
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